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And if you wish I can say it is a seeding day

OVERVIEW
See ‘Overview’ to previous *X1 71"7 MdOIN.
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And as to what you asked that it is not two days of (first) plowing, the answer
is; first plow a day and a half and then repeat the plowing for the remainder of
the day.’

SUMMARY
An area which requires one day of plowing at seeding time is the equivalent of
plowing twice two days initially.
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A day of 7¥°77 is equal to two days of plowing twice AN 92707 RYTT XA | WK PR 0"
'R X"V2R

A day of plowing equals a day of seeding of hilly MR K27 RAY '27 X"v2NR

hard soil

A day of plowing equals a day of seeding twice 71N 27737 X272 XY T N "
'R X"VR

A day of seeding equals two days of plowing hilly TNTAND RYITT X '27 X"V

hard soil

A day of plowing equals a day of seeding since he | *117X72 RYIT X27102 KA DR1M 1020

seeds as he returns 'Ri7 X"V2R

A day of seeding equals two days of plowing (twice) 101 2757 RYITT XY '27 X"V2N

THINKING IT OVER
1. What is the point of plowing a second time?” Is it merely to fill the day for the
worker?!’

2. From all the views which is the largest field and which is the smallest (to
divide)?

! See the 12 My (and footnote # 1) on the previous M»do1n that these two NN are one.
? See previous *X1 7"7 '01n footnote # 2. That the X0 is 73N 22797 KYIT X2 XK NPYX).

? See “Thinking it over’ # 1.

* See footnote # 3.

> See w72 021 1" WD and 21w MdOIN.
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